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f : A- failures =/ in > 28
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at least a majority (8+1) hodes
must coordinate in any decision



Strawman : 1-. roles : 1. proposer
acceptors 2. acceptor
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Strawman 2 :
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P.BA/Hotsta*-.. .
reserve all leader- based

but leaders canary
② ☒ ⑧ HID have : 1. leader election↳→ 2. view change*¥pt②rlIi→al#
Algorithm :
1. ask all nodes to reserve-team them
wait for quorum to answer

"
yes

"

2. ask all nodes to accept Y
wait for quorum of

"

yes
"



Retry without confusion -→ labeling
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Algorithm : (Initiator I. with value 4)
for each step 5-1,2,

3
. .
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I. ask quorum
or acceptorb to rese s

2. ask quorum
of acceptors to acceptY←

on failure


